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1- Shade the circle of the symbol the
represents the right answer fully.

The main frame of the country which
is known as the life cycle of the

country is put by......
@)  Aresto
@ Ratzel
@ Ibn Khaldoon
@ Aflaton |

2- How do you explain ... ?

The availabilty of grass helps the
economic growth of some countries.

JIATH 5y 3 O3 3 0TS S = )
MMMIAT Aomoneiall la¥i e
Sels
Aol alall HLLW 9
Sl 590 pewlky 8y 0L

el e A LT 3,89 e b
.39l ans LBy
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3- What are the results of: 1 oA A yilad! EALE Lo -1

. . e Jol paas Gy 55 540
The dispute between some countries UK EyRee |
on the political boundaries.

4- Write what does the following Ade Ju5 U aggaelt CS) - ¢
concept refer to? P AGY) 5 )ylealy
'""A human phenomnon that man Pods Ay 3,015,
plans for his econamic, poiltical and 4"‘“‘“‘* o L"“’*:h;""'* "L“f’z:

- A pSuat Laid
military benefits." = e
- Atuludt
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5- Shade the circle of the symbol that AT b O 3500 S -0
represents the right answer fully. SIS Asvoualt Al ¥ o
Oels
The fgove.rnment can achifeve .the best i PRI PR
doqnnatmn .and communlcatloon on S L I Luad el
all its parts in the shape that is....... (S B AL gl o1 j]
@) regular gl ol ettt ()
(b rectangular (the prolonged one) (o atl) dulawedt ()
@ divided RFCON{ @
(@ inclusive (pockets) (ogd) gsimatt (D)
6- The military alliances have become A0 S walt @AY Coveiol -1
one of the main features of the policies | dwlud At )31 @Ilael! i
for the balance of the contemporary @2 -+ -3 o laalt (G 9-BY ()1 9T
power. -AZsLud! 3Ll o 9o
Guided by this statement: A Y BB Gy (D) S
State two of the most imporant aims <Ayl
of the military alliances.
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7- You have a base map of the world.
Look at it then write the indication of
each letter.

a- A country that has a Prolonged shape.
(The rectangular)

b- A country that is colonizing Sebta
and Milila.

c- A country where the bond of the
NATO was signed.

d- A country that has the main place
of the Council of Co-operation of the
Arab Gulf Countries.

R lall ¢ Lo Aay y5 Slolai -V

AaBgalt g yondl Jstube S
lgde

(o s IS Sits A g -
(Jdaliwe)

Ww (el 3 paalus A9 -
Alday

-

als (Blice 2895 g @3 A9 -z
ulla¥) Jled

Ol (ulome sbe lga AT ga -2
sl mdantt J o
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8- What happens if: $13) Sodny 1300 -A

Answer either (A) or (B) + daZd (o) SREIT o)

A- Some countries don't own some of alie pany J gl EllieT @ -
the elements of the military forces Aol A ySuualt 5 9alt
especially the military tools and the Oldaeg Ay pSualt Ofdael!
.Juan

fighting ones .
B- The minorites are centeralized L1 jaa 538 50 Add¥ CAIS —o
geographically in one place in the Aol Aot o Le (IS B
country especially the sides of its -2kl le

boundaries.
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9- Prove with an evidence the correctness 3slaal! Ao Jd Ly i -4
of the following statement: P AGY

" Having some countries owning some | s3kas saad Joull SI3Ue! 51y
of the power resources grant them a -cba9® L Lganian 4Bl
strong weapon.''

10- Shade the circle of the symbol that e JIA ot Sf3 3,00 U - »
represents the right answer fully. lolS SLUAT Ameuall Aol
The COMESA is the common AS pldieal! (gt (o Lurta g
market of the countries of ..................... +J9d

(@)  The European Union SETITE (R ©)

(b)  eastand south Africa Lddlosaydra (O

@ The Council of Gulf Co-operation s Hglald ) (pudomo @

(@  The Union of the Arab West (etloaattalait - (D)

Countries
6
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11- " Rivers play a radical role as political D ysme 1593 5L | caaliy =\ )

boundaries between countries.' 29 (0 Acwlow 39S
Guided by this statement answer coi .3ylall olAd ¢ gud B
either (A) or (B) only. 1dadd (@) of (1) e
39S HLANI O jrae ) -

A- State the advantages of the rivers as I WO o

politcal boundaries.

B- State the disadvantages of the rivers 39S HE¥) Ligue sy -0
as political boundaries. - Al
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12- What is meant by the concept of
""The country" ?

13- How do you explain ... ?

The establishment of United Nations
Organization.

14- Write the suitable concept of the
following statement :

" The operation of changing the
economic and social styles and
systems is done by the strongest
countries to prevail their dominance."

SAT 9y 1 pgglan dguadaell Lo -\ Y

9...).&.‘.9?“@-\‘”

-e¥ ! dac Aeliie Aeldy

u.ual.li.ﬂ @h.m.a.ﬂ S -\ ¢
z@?‘B)L'uJJ

‘Q.Yé.u‘j «.!aLdSHJ,&uu‘“ 2,3-‘-6&»
Aclaia g A laldy
5538 £BY1 gl Ly g
- e
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YOV/Y AT Gty alall = Jg¥ 1 ygudl - (A ko M1 ARUTL) Ll st | — Aolad! 2 930 Aa ytd pLad Bl ylomi!

15- State the reason of the beginning of Cvo S 3LE0 Coow A -\ 0
a lot of political boundaries in Africa, Oyl Al 3 gt
Aisa and South America. (S0 p0 9 Ll g L 53
-dn gt
16- What are the results of: 1 ole A Sled) FLEd Lo -\ Y
The political geography is related to Aulewt) LA it Dol
the elections operations. AL LOY) ddeally
O Lo 9

wwyjailledg o



17- Shade the circle of the symbol that
represents the right answer fully.

The geographical information systems are
considered a huge addition to all other

sciences especially the....... geographty
@)  human
(b)  astronomical
(©)  natural
(@ political

18- Compare between the political
geography and the geopolitics.

JIAM a1 S 5 ,00A0 U8 -\ Y

olS SLdaT Amoal| ala¥ o

4@ yaomd) Ologlaed! il dal
polall Calinet Alla Aals)
LB piad) Aol g

LAy @

Casdat @

.:Lu.g‘JaJ‘ @

P o { @

1008 IS (i (18 VA
Ll g3 gt g Apuulead | L1 pant

10
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19- Prove with an evidence the 3 ylaal! Ao Sttty i -1 4

correctness of the following P AGY

statement. i

The countries of west Africa L ydl wipd J9a Cugdn
Q,B A Lo Of poas

witnessed climatic changes in the

seventies and the eighties of the & “ww‘{" ‘jl‘“'."*‘m“"fd:
twentieth century. i
20- What is meant by the population gadlady, 3gaiael Lo - Y
characteristics? OISl

21- Shade the circle of the symbol that I 5Tt Sl 30l IS - Y

represents the right answer fully. SLIST domoalt Al ¥ Sl
Dels
One of the examples of the fixed Acwlead! 3 gt | ALial (o
astronomical political boundaries is 1ot 3 9| Alwad) AgSLat
the boundaries between ...............
@ Egypt and Sudan. Olsgudly ynn @
@ India and Pakistan OLiusSLg gt @
@ Chile and Argentina. Oy )Y g @
@ Canada and United States of America | 2 susiadi Obi¥ailg s @
in the range of the great lakes. oalaad| o B3
11
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22- How do you explain ... ? § ool @y =YY

The importance of allied water and the 3loval ) oleal! Atani Sial)
continental pavements in the previous O pial! 8 dyylal daw ¥l g
periods of years has inceased. =8 Y
23- Write the suitable concept of the cewliad! ol COS) - YV
following statement: 1 AGY) 5 )ylalt
One of the degrees of the economic OIS Ol y3 (po A
integration which is made by a O A9 (SN (S3LaIBY
group of homogenous countries Audlovialt J9dt (e A game
geographically, culturely and -Lelalinf g Ldlas g Ll yao
socically.
12
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24- What are the results of: 1 ohe Al ylad EALEN La - Y £

The appearance of the Oil and gas 2 Wty Jgdt Jeds ssets
wells in the water of the marine plol ool apajli olia
pavement in front of Libya and -k ouisS
Tunisia.
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®0 © &

You have a figure of the
classification of water areas:

Choose only two of the following
and write them in their proper
place on the figure.

Regional water

International water

The internal water

The marine pavement

£193% ouud o3 IS Elalal
Aoladt Gloliad)

(3L Las dadd (0B S5

JS e J1 eyl casty

t hagd cuwliall §ISeT! g,’a Loga

AcadB ¥ olat
olradt) Hlsmd! e

(ad 1
LA (At oleal

S s 1

=0

O® 0O

26- Shade the circle of symbol that

®0e6

represents the answer fully.

The biggest contienent in the world
that include imprisioned countries

Europe
Africa
Australia

South America

14

JIAT) a1 S 55040 JUES
dmovall >N Sle
Slals Hdtas

pri (P (P (P B e LY

1518 A W9 @il
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27- Prove with an evidence the correctness 3ylaal! Ao Sttty i - YV
of the following statement. P AGY

4#&"4?‘ Jledi al> als,

a - The North Atlantic Union exerted
dads (83 008 Ol ggamed

great efforts to keep the international

peace. e 4P ] ?M‘
28- What is meant by the '' Political O S aal! ) A gga 3guadall Lo - YA
Problems''? 9((2#64‘19&"

15
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29- Compare between the poiltical P i (0 js Om Cyl® - Y4

boundaries and the wide areas 1 S (10 Aot b | 3 gl g
(Tekhoom). Mentoin: -
- The lawful base -@PRLEN ulu¥t —

JAacdall Ay | —
- The natural resources e 3l ged
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30- How do you explain ...? § e oS @Y

The variety of economic resources is 422 LB S!S

the main principle of the success of ST igell Al Jale

the economic blocs. o bl
31- Shade the circle of the symbol that ST e 31 S0 300400 JUS -
represents the right answer fully. SIS Avoiall Al ¥ e
Dels

- The new world system appeared
for the first time in the political
international speech of president

3 el ! el lalt ALAIYY ygld
(ulud ) Olladtt (8 T g

.............. t (i Y ge!h!‘
(@)  George Bush snpr (D)
(b  Jack Sherak Al (Q
(©  Gorbatshof P O
@ Jimmi Carter IS e @

17
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32- Write the suitable concept of the cwlial! llaaed | COSH -YY
following statement: 1 AGY) 5 ylalt

&-‘1 t:’)kcm h’&?ﬁ»

"'A group of interactions between : P
.((Z,.J_,.\ t:ﬂn.\}_’j‘ é‘)h‘

organizational unions or countries."

33- What are results of : 1 ole AG yled| ZILL Lo =YY

@ gud| AN o ghu

The failure of the Soviet Union and
-J9a N Addad g

its division to many countries.

18
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34- What is meant by the concept of Sty pogled 3gadiall Lo -YE
"War"?

19
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35-"" The country is the core of studying Awlyd ygowe A gudf dad, -YO
political geography and it represents an Fiad LeS (Awlowd) LA st
independent political unit that has its 3L gt Aliise dewliw 3> g
own sovereignty, systems and laws." (g3 Aol (501 98 9 Aatiii g

O ) 13 kel old ¢ oo (B
Guided by this statement answer : (dazd (@) of (1)
either (A) or (B) only.

a- State with examples the difference ALudl (e (B pal ALie¥ L g -
between the divisions of the ruling WD Y Jodtf (B eSadf allad
system in the united compound S el
countries.

b- Clasify the capitals of the counrties 2S5 20 Jol ol 9o Lo -0
by giving examples. . Alel

20
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36- Shade the circle of the symbol that JIATY 3 o3 i1 3,508 S -1

represents the right answer fully. Aouall Dl N e
Slels SLtas
One of the stages of specifying the I dowlaud) 3 gt o s0 (3o
political boundaries before the Gle dadl dad GG gd @iy
boundary line is put on the map is......... s Aday y3u1
(@)  definig and planning the boundary adasdllg et ()
(b  specifying the boundary et ()
@ administering the boundary ~t18,s) @
(@ viewing and marking the boundary in Owdl ()
nature
37- What is meant by the concept of § LAY, pggaas 3 guaiall La -V

"Minorities''?

21
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38- Shade the circle of the symbol that
represents the right answer fully.

It is one of the governing systems
which is distinguished by having a
president that rules.

The parlimemanic system

The semi-presidental system
The royal system

The presidental system

®O06

22

I 30 Sits 3,500 QIS YA
Amouall > ¥ Gle
el HLdray

et g (S| Aekidl i g2
AUAL @St g 3 g sy S92 99

.@L&Sﬁ‘em‘
.gﬂaJ‘?LBJJi

OO
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39- Prove the correctness of one of the
following statements.
Choose either (A) or (B) only

a- There is a hidden dispute on the
raw materials that contribute in the
advanced technological industries.

b- The international relations are
affected by many varied and
complicated factors like that of the
number of population. These effects
might be either strong or weak,
negative or positive. They may also
be shown through the growth or the
deterioration of these relations.

Onylial | Ao Jud il Ly Sedl - ¥4
1 (e
1dadd (@) of (1) i

3 galt e SaSI gl jualt Hous -
Silelualf o J5ud I alst
< AeGTeY ) A gY 9IS

o g At g SLBMatt L -0
553 5i Lanid g ¢ Lilomat o Libus
Jalgaa ¢ &M‘ji ;3-633
ASHLilie g Ao gicia g 5 pociS
O dde g
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